

Tauberian Remainder Theorems for the Weighted Mean Method of Summability

Sefa Anıl Sezer^{a,b} and İbrahim Çanak^a

^a*Department of Mathematics, Ege University*
35100 İzmir, Turkey

^b*Department of Mathematics, Istanbul Medeniyet University*
34720 İstanbul, Turkey

E-mail(*corresp.*): sefaanilsezer@gmail.com

E-mail: sefaanil.sezer@medeniyet.edu.tr

E-mail: ibrahimcanak@yahoo.com

E-mail: ibrahim.canak@ege.edu.tr

Received July 4, 2013; revised March 12, 2014; published online April 15, 2014

Abstract. Using the weighted general control modulo, we prove several Tauberian remainder theorems for the weighted mean method of summability. Our results generalize the results proved by Meronen and Tammeraid [Math. Model. Anal. 18 (1) 2013, 97–102].

Keywords: weighted general control modulo, Tauberian remainder theorem, weighted mean method, λ -bounded sequence.

AMS Subject Classification: 40C05; 40E05; 40G05.

1 Introduction

Let $x = \{\xi_n\}$ be a sequence of real numbers and any term with a nonnegative index be zero. Assume that $p = \{p_n\}$ is a sequence of nonnegative numbers with $p_0 > 0$ such that

$$P_n := \sum_{k=0}^n p_k \rightarrow \infty \quad \text{as } n \rightarrow \infty.$$

The n^{th} weighted mean of the sequence $x = \{\xi_n\}$ is defined by

$$\sigma_{n,p}^{(1)}(x) := \frac{1}{P_n} \sum_{k=0}^n p_k \xi_k.$$

A sequence $x = \{\xi_n\}$ is said to be summable by the weighted mean method determined by the sequence p , in short; (\overline{N}, p) summable to a finite number $\sigma(x)$

if

$$\lim_{n \rightarrow \infty} \sigma_{n,p}^{(1)}(x) = \sigma(x).$$

If $p_n = 1$ for all nonnegative n , then (\overline{N}, p) summability method reduces to Cesàro summability method.

The weighted Kronecker identity [1] is given by

$$\xi_n - \sigma_{n,p}^{(1)}(x) = V_{n,p}^{(0)}(\Delta x), \tag{1.1}$$

where

$$V_{n,p}^{(0)}(\Delta x) := \frac{1}{P_n} \sum_{k=0}^n P_{k-1} \Delta \xi_k.$$

The weighted classical control modulo of $\{\xi_n\}$ is given by

$$\omega_{n,p}^{(0)}(x) = \frac{P_{n-1}}{p_n} \Delta \xi_n$$

and the weighted general control modulo [1] of integer order $m \geq 1$ of $\{\xi_n\}$ is defined by

$$\omega_{n,p}^{(m)}(x) = \omega_{n,p}^{(m-1)}(x) - \sigma_{n,p}^{(1)}(\omega^{m-1}(x)).$$

For each integer $m \geq 0$, we define $\sigma_{n,p}^{(m)}(x)$ by

$$\sigma_{n,p}^{(m)}(x) = \begin{cases} \frac{1}{P_n} \sum_{k=0}^n p_k \sigma_{k,p}^{(m-1)}(x), & m \geq 1, \\ \xi_n, & m = 0. \end{cases}$$

In the recent years different classes of sequences associated with multiplier sequences have been introduced and their different algebraic and topological properties have been investigated by researchers with specific objectives. The studies on sequence spaces associated with multiplier sequences was started by Goes and Goes [3], followed by Tripathy and Mahanta [14], Tripathy and Hazarika [13], Tripathy and Chandra [12] and others.

A sequence $x = \{\xi_n\}$ is called λ -bounded with the rapidity $\lambda = \{\lambda_n\}$ ($0 < \lambda_n \uparrow \infty$) if

$$\lambda_n(\xi_n - \xi) = O(1)$$

with $\lim \xi_n = \xi$. We denote the set of all λ -bounded sequences by m^λ .

A sequence $x = \{\xi_n\}$ is called λ -bounded by the weighted mean method of summability (\overline{N}, p) if $(\overline{N}, p)x$ is λ -bounded. This is equivalent to saying that

$$\lambda_n(\sigma_{n,p}^{(1)}(x) - \sigma(x)) = O(1)$$

with

$$\sigma_{n,p}^{(1)}(x) := \frac{1}{P_n} \sum_{k=0}^n p_k \xi_k \quad \text{and} \quad \lim_{n \rightarrow \infty} \sigma_{n,p}^{(1)}(x) = \sigma(x).$$

In short, we write $x \in ((\overline{N}, p), m^\lambda)$.

A number of authors including Kangro [4], Tammeraid [11] and Šeletski and Tali [10] proved Tauberian remainder theorems for some summability methods using summability with given rapidity. Meronen and Tammaraid [5] obtained a Tauberian condition under which λ -boundedness of $\{\xi_n\}$ transformed by the generalized Euler–Knopp method implies λ -boundedness of $\{\xi_n\}$. In [6], they obtained sufficient conditions for the generalized Nörlund method and Tauberian conditions to deduce $x \in m^\lambda_X$ from $Nx \in m^\lambda_X$. Meronen and Tammaraid [7] also proved gap Tauberian theorems for the generalized linear methods. Moreover, they proved some results on λ -summable series by the Cesàro method of order one and by the weighted mean method (\overline{N}, p) in [8]. Recently, Meronen and Tammeraid [9] have proved Tauberian remainder theorems for Cesàro summability method using the concept of the general control modulo of integer order $m \geq 1$, defined by Dik [2]. In this paper we obtain some Tauberian conditions to deduce $x \in m^\lambda$ from $(\overline{N}, p)x \in m^\lambda$. Our results generalize the results proved by Meronen and Tammeraid [9].

2 Tauberian Remainder Theorems For (\overline{N}, p)

Using the classical control modulo, we prove the following Tauberian theorem for (\overline{N}, p) summability method.

Theorem 1. *Let $x \in ((\overline{N}, p), m^\lambda)$. If*

$$\lambda_n V_{n,p}^{(0)}(\Delta x) = O(1), \tag{2.1}$$

then $x \in m^\lambda$.

Proof. Assume that $x \in ((\overline{N}, p), m^\lambda)$. By the weighted Kronecker identity

$$\xi_n - \sigma_{n,p}^{(1)}(x) = V_{n,p}^{(0)}(\Delta x),$$

we have

$$\lambda_n (\xi_n - \sigma(x)) = \lambda_n (\sigma_{n,p}^{(1)}(x) - \sigma(x)) + \lambda_n V_{n,p}^{(0)}(\Delta x).$$

Taking (2.1) into account, we obtain $x \in m^\lambda$. \square

Lemma 1. *The following assertion is valid:*

$$\omega_{n,p}^{(1)}(x) = \omega_{n,p}^{(0)}(x) - \xi_n + \sigma_{n,p}^{(1)}(x). \tag{2.2}$$

Proof. By the weighted general control modulo of integer order $m = 1$ and (1.1), we have

$$\begin{aligned} \omega_{n,p}^{(1)}(x) &= \omega_{n,p}^{(0)}(x) - \sigma_{n,p}^{(1)}(\omega^{(0)}(x)) \\ &= \omega_{n,p}^{(0)}(x) - \frac{1}{P_n} \sum_{k=0}^n p_k \frac{P_{k-1}}{p_k} \Delta \xi_k \\ &= \omega_{n,p}^{(0)}(x) - V_{n,p}^{(0)}(\Delta x) = \omega_{n,p}^{(0)}(x) - \xi_n + \sigma_{n,p}^{(1)}(x). \end{aligned}$$

\square

Theorem 2. Let $x \in ((\overline{N}, p), m^\lambda)$. If the conditions

$$\lambda_n \omega_{n,p}^{(0)}(x) = O(1), \quad \lambda_n \omega_{n,p}^{(1)}(x) = O(1) \tag{2.3}$$

are satisfied, then $x \in m^\lambda$.

Proof. Assume that $x \in ((\overline{N}, p), m^\lambda)$. By Lemma 1, we have

$$\xi_n - \sigma(x) = \omega_{n,p}^{(0)}(x) - \omega_{n,p}^{(1)}(x) + (\sigma_{n,p}^{(1)}(x) - \sigma(x)). \tag{2.4}$$

It follows from (2.4) that

$$\lambda_n (\xi_n - \sigma(x)) = \lambda_n \omega_{n,p}^{(0)}(x) - \lambda_n \omega_{n,p}^{(1)}(x) + \lambda_n (\sigma_{n,p}^{(1)}(x) - \sigma(x)).$$

Taking (2.3) into account, we obtain $x \in m^\lambda$. \square

The next statement gives an identity for the weighted general control modulo of integer order $m = 2$ in terms of the classical control modulo and the n^{th} weighted means of x .

Lemma 2. The following assertion is valid:

$$\omega_{n,p}^{(2)}(x) = \omega_{n,p}^{(0)}(x) - 2\xi_n + 3\sigma_{n,p}^{(1)}(x) - \sigma_{n,p}^{(2)}(x). \tag{2.5}$$

Proof. By the weighted general control modulo of integer order $m = 2$ and (2.2), we have

$$\begin{aligned} \omega_{n,p}^{(2)}(x) &= \omega_{n,p}^{(1)}(x) - \sigma_{n,p}^{(1)}(\omega^{(1)}(x)) \\ &= \omega_{n,p}^{(0)}(x) - \xi_n + \sigma_{n,p}^{(1)}(x) - \frac{1}{P_n} \sum_{k=0}^n p_k (\omega_{k,p}^{(0)}(x) - \xi_k + \sigma_{k,p}^{(1)}(x)) \\ &= \omega_{n,p}^{(0)}(x) - \xi_n + \sigma_{n,p}^{(1)}(x) - \frac{1}{P_n} \sum_{k=0}^n p_k \omega_{k,p}^{(0)}(x) + \frac{1}{P_n} \sum_{k=0}^n p_k \xi_k \\ &\quad - \frac{1}{P_n} \sum_{k=0}^n p_k \sigma_{k,p}^{(1)}(x) \\ &= \omega_{n,p}^{(0)}(x) - \xi_n + \sigma_{n,p}^{(1)}(x) - V_{n,p}^{(0)}(\Delta x) + \sigma_{n,p}^{(1)}(x) - \sigma_{n,p}^{(2)}(x) \\ &= \omega_{n,p}^{(0)}(x) - \xi_n + \sigma_{n,p}^{(1)}(x) - \xi_n + \sigma_{n,p}^{(1)}(x) + \sigma_{n,p}^{(1)}(x) - \sigma_{n,p}^{(2)}(x) \\ &= \omega_{n,p}^{(0)}(x) - 2\xi_n + 3\sigma_{n,p}^{(1)}(x) - \sigma_{n,p}^{(2)}(x). \end{aligned}$$

\square

Theorem 3. Let $x \in ((\overline{N}, p), m^\lambda)$. If the conditions (2.3),

$$\lambda_n \omega_{n,p}^{(2)}(x) = O(1), \tag{2.6}$$

$$\lambda_n (\sigma_{n,p}^{(2)}(x) - \sigma(x)) = O(1) \tag{2.7}$$

are satisfied, then $x \in m^\lambda$.

Proof. Assume that $x \in ((\overline{N}, p), m^\lambda)$. By Lemma 2, we have

$$2(\xi_n - \sigma(x)) = \omega_{n,p}^{(0)}(x) - \omega_{n,p}^{(2)}(x) + 3(\sigma_{n,p}^{(1)}(x) - \sigma(x)) - (\sigma_{n,p}^{(2)}(x) - \sigma(x)).$$

Then it follows that

$$2\lambda_n(\xi_n - \sigma(x)) = \lambda_n(\omega_{n,p}^{(0)}(x) - \omega_{n,p}^{(2)}(x) + 3(\sigma_{n,p}^{(1)}(x) - \sigma(x)) - (\sigma_{n,p}^{(2)}(x) - \sigma(x))).$$

Taking (2.3) and (2.6) and (2.7) into account, we obtain $x \in m^\lambda$. \square

Lemma 3. *The following assertion is valid:*

$$\omega_{n,p}^{(3)}(x) = \omega_{n,p}^{(0)}(x) - 3\xi_n + 6\sigma_{n,p}^{(1)}(x) - 4\sigma_{n,p}^{(2)}(x) + \sigma_{n,p}^{(3)}(x). \tag{2.8}$$

Proof. By the weighted general control modulo of integer order $m = 3$ and (2.5), we have

$$\begin{aligned} \omega_{n,p}^{(3)}(x) &= \omega_{n,p}^{(2)}(x) - \sigma_{n,p}^{(1)}(\omega_{n,p}^{(2)}(x)) = \omega_{n,p}^{(0)}(x) - 2\xi_n + 3\sigma_{n,p}^{(1)}(x) - \sigma_{n,p}^{(2)}(x) \\ &\quad - \frac{1}{P_n} \sum_{k=0}^n p_k (\omega_{k,p}^{(0)}(x) - 2\xi_k + 3\sigma_{k,p}^{(1)}(x) - \sigma_{k,p}^{(2)}(x)) \\ &= \omega_{n,p}^{(0)}(x) - 2\xi_n + 3\sigma_{n,p}^{(1)}(x) - \sigma_{n,p}^{(2)}(x) - \frac{1}{P_n} \sum_{k=0}^n p_k \omega_{k,p}^{(0)}(x) + \frac{2}{P_n} \sum_{k=0}^n p_k \xi_k \\ &\quad - \frac{3}{P_n} \sum_{k=0}^n p_k \sigma_{k,p}^{(1)}(x) + \frac{1}{P_n} \sum_{k=0}^n p_k \sigma_{k,p}^{(2)}(x) \\ &= \omega_{n,p}^{(0)}(x) - 2\xi_n + 3\sigma_{n,p}^{(1)}(x) - \sigma_{n,p}^{(2)}(x) - V_{n,p}^{(0)}(\Delta x) + 2\sigma_{n,p}^{(1)}(x) \\ &\quad - 3\sigma_{n,p}^{(2)}(x) + \sigma_{n,p}^{(3)}(x) \\ &= \omega_{n,p}^{(0)}(x) - 2\xi_n + 3\sigma_{n,p}^{(1)}(x) - \sigma_{n,p}^{(2)}(x) - \xi_n + \sigma_{n,p}^{(1)}(x) + 2\sigma_{n,p}^{(1)}(x) \\ &\quad - 3\sigma_{n,p}^{(2)}(x) + \sigma_{n,p}^{(3)}(x) \\ &= \omega_{n,p}^{(0)}(x) - 3\xi_n + 6\sigma_{n,p}^{(1)}(x) - 4\sigma_{n,p}^{(2)}(x) + \sigma_{n,p}^{(3)}(x). \end{aligned}$$

\square

Theorem 4. *Let $x \in ((\overline{N}, p), m^\lambda)$. If the conditions (2.3), (2.7),*

$$\lambda_n \omega_{n,p}^{(3)}(x) = O(1), \quad \lambda_n (\sigma_{n,p}^{(3)}(x) - \sigma(x)) = O(1) \tag{2.9}$$

are satisfied, then $x \in m^\lambda$.

Proof. Assume that $x \in ((\overline{N}, p), m^\lambda)$. By Lemma 3, we have

$$\begin{aligned} 3(\xi_n - \sigma(x)) &= \omega_{n,p}^{(0)}(x) - \omega_{n,p}^{(3)}(x) + 6(\sigma_{n,p}^{(1)}(x) - \sigma(x)) - 4(\sigma_{n,p}^{(2)}(x) - \sigma(x)) \\ &\quad + (\sigma_{n,p}^{(3)}(x) - \sigma(x)). \end{aligned}$$

Then it follows that

$$\begin{aligned} 3\lambda_n(\xi_n - \sigma(x)) &= \lambda_n \omega_{n,p}^{(0)}(x) - \lambda_n \omega_{n,p}^{(3)}(x) + 6\lambda_n(\sigma_{n,p}^{(1)}(x) - \sigma(x)) \\ &\quad - 4\lambda_n(\sigma_{n,p}^{(2)}(x) - \sigma(x)) + \lambda_n(\sigma_{n,p}^{(3)}(x) - \sigma(x)). \end{aligned}$$

Taking (2.3), (2.7) and (2.9) into account, we obtain $x \in m^\lambda$. \square

References

- [1] İ. Çanak and Ü. Totur. Some Tauberian theorems for the weighted mean methods of summability. *Comput. Math. Appl.*, **62**(6):2609–2615, 2011.
<http://dx.doi.org/10.1016/j.camwa.2011.07.066>.
- [2] M. Dik. Tauberian theorems for sequences with moderately oscillatory control moduli. *Math. Morav.*, **5**:57–94, 2001.
- [3] G. Goes and S. Goes. Sequences of bounded variation and sequences of Fourier coefficients. *Math. Z.*, **118**:93–102, 1970.
<http://dx.doi.org/10.1007/BF01110177>.
- [4] G. Kangro. A Tauberian remainder theorem for the Riesz method. *Tartu Riikl. Ül. Toimetised*, **277**:155–160, 1971. (in Russian)
- [5] O. Meronen and I. Tammeraid. Generalized Euler–Knopp method and convergence acceleration. *Math. Model. Anal.*, **11**(1):87–94, 2006.
<http://dx.doi.org/10.1080/13926292.2006.9637304>.
- [6] O. Meronen and I. Tammeraid. Generalized Nörlund method and convergence acceleration. *Math. Model. Anal.*, **12**(2):195–204, 2007.
<http://dx.doi.org/10.3846/1392-6292.2007.12.195-204>.
- [7] O. Meronen and I. Tammeraid. Generalized linear methods and gap Tauberian remainder theorems. *Math. Model. Anal.*, **13**(2):223–232, 2008.
<http://dx.doi.org/10.3846/1392-6292.2008.13.223-232>.
- [8] O. Meronen and I. Tammeraid. Several theorems on λ -summable series. *Math. Model. Anal.*, **15**(1):97–102, 2010.
<http://dx.doi.org/10.3846/1392-6292.2010.15.97-102>.
- [9] O. Meronen and I. Tammeraid. General control modulo and Tauberian remainder theorems for $(C, 1)$ summability. *Math. Model. Anal.*, **18**(1):97–102, 2013.
<http://dx.doi.org/10.3846/13926292.2013.758674>.
- [10] A. Šeletski and A. Tali. Comparison of speeds of convergence in Riesz-type families of summability methods. II. *Math. Model. Anal.*, **15**(1):103–112, 2010.
<http://dx.doi.org/10.3846/1392-6292.2010.15.103-112>.
- [11] I. Tammeraid. Tauberian theorems with a remainder term for the Cesàro and Hölder summability methods. *Tartu Riikl. Ül. Toimetised*, **277**:161–170, 1971. (in Russian)
- [12] B.C. Tripathy and P. Chandra. On some generalized difference paranormed sequence spaces associated with a multiplier sequence defined by a modulus function. *Anal. Theory Appl.*, **27**(1):21–27, 2011.
<http://dx.doi.org/10.1007/s10496-011-0021-y>.
- [13] B.C. Tripathy and B. Hazarika. I -convergent sequence spaces associated with multiplier sequences. *Math. Inequal. Appl.*, **11**(3):543–548, 2008.
- [14] B.C. Tripathy and S. Mahanta. On a class of vector-valued sequences associated with multiplier sequences. *Acta Math. Appl. Sin., Engl. Ser.*, **20**(3):487–494, 2004.